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Second Question : (10 marks ) ( I il 43 5y b Aila Y1)

True or false (True A / False B )
21.The matching concept requires expenses to be recorded in the
the related revenue is recorded ., -
22.All fixed assets, such as Land, need to depreciate. 3
23 Adjusting entries affect only expense and asset accounts. ,
24 Manufacturing Business Sells products they purchase from other busin
customers, -
25.Used supplies are classified as an expense.
26.Proprietorship is owned by one owner and corporation is owned by two ot more
individuals . X
27. According to double entry accounting System every husiness transaction must
have two accounts at least«
28.Selling goods or provide service will increase the revenue , and paying expenses
will increase owner equity . M
29.If the company paid all liabilities then the assets will equal owners' equity ..~
30.The process of transferring the journal entries to the accounts known as posting ¢

same period that

eus 1o

Third Question : (10 marks

The following selected _tr*;‘t_rm_ﬂf.:i:i:;g_m»::II were completed during July by Belton Co.:

July 1 Soldmerchandise on account to Terra Co. list price $80,000, trade
discount 20%, terms 2/15, n/30. The cost of merchandise sold was $15.000.

2 Purchased merchandise on account from Jones Company for $20,000, terms
FOB -t_.’lcsﬁnﬂ_tiaﬁ, 110, n/ L5,

3 Received merchandise retuned by Terra Co; from sale on July 1 , $5,000
The cost of the merchandise returned was $900 . -

#  Received cash on account from sale of July 1 to Terra Co | less di
and less return of July 3 ~ 1scount

6 Returned $6,200 of merchandises purchased on account on July 2,
5 ]E[q ngﬁ’.‘am account for purchase of July 2.

20 Sold merchandise for cash $2,500 it |
| 31361@ dise for cash $2,500 , The cost of merchandise sold was
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ght answer for each question below:

Choose the ri

e following are examples of external users of accounting information except:

1- Th
A. Government
B. Customers
Ccrﬁdi[m‘.& 'Illre.’l[y f':,ill'"i‘f"_:l L ;_"1 ! P o 2 ..
@ Employees
1' ] . !
7. The assets of the company $185,000 and liabilities $20,000 as of December 31,

2012. Assets increase by $45,000 and liabilities decrease by $18, 000 during 2013.
What is owner's equity at the end of 2012 & 2013, respectively? &L
A

A, $205,000 , 232,000 45~ 1RO
H $165,000 , 228 000
B $i85m02?{}0ﬁ ﬂ&gd_‘_ i B/é?’“['{t_;, -+ of

D.$2ﬂ,ﬂ%,ﬁ3,ﬂn[} cz'}'})?‘f Cﬁ{:- ﬁﬁ!ﬂr’fﬂ‘l’ i@b\'\w.ﬁ

3- Hmw does the purchase of buildin ‘g\r for cash af‘rbct the accounting equation?
. assets increase; assets  decrease . . f el
. assets increase; liabilities decrease FISSESS /\ -

C, assets increase; liabilities increase f

D. assels increase; owner's equity increase

ﬁn which of the following concepts separate the activities of a business from the
-of its owners, creditors, or others

t Concept

_t of Measure Concept

er withdrew $4,§ﬂ0 cash for personal use, the journa
sﬁ}ﬁm&&t&mﬁlt caplt-al $ 4 fiﬂﬂ - Gl




16- The Capital at the end of the period will be

A. §300,000

“BJ$114.000 tevashment 325
C. $144,000 i T
D. $141,000 S

17- Total Current Assets and total Fixed Agsets will be
(A,/$96,000 and 40,000
B. $69,000 and 40,000
C. $60,000 and 40,000
D. 540,000 and 96,000

18- Total liabilities and Owner's Equity should equal. ...
A. $163,000
B. $361,000
(CJ $136,000
D. $636,000

19- A financial statement user would determine if a company was profitable or not
during a specific period of time by reviewing
[ A, The Income Statement.
B. The Balance Sheet.
C. The Statement of Cash Flow.
D. Cannot be determined.

20- The Discount that is granted by the seller to government agencies or business that
order large quantities is
A. Fright .
B. Purchases discount,
€. Sales discount.
D. Trade discount.




12- .Which of the following is an example of accrued revenue ¥
A. Swimming pool cleaning service that has been paid for three months in
_ advance
B/ Swimming pool cleaning service that has been provided but has not been billed
or paid.

C. An agreement has been signed for swimming pool service cleaning for the next
three months.

D. Swimming pool cleaning service that has been provided and paid on the same
day .

I3~ The entry to adjust the accounts for accrued wages at the end of the accounting
period is
A. debit Wages Payable; credit Wages Income
B. debit Wages Income; credit Wages Payable
f(ﬁ_adcbit Wages Payable; credit Wages Expense
( Q;,‘dcbit Wages Expense; credit Wages Payable

14- The closing entry for expenses is:
A debit Income summary ; credit expenses
B. debit expenses; credit Income summary
C. debit Income summary ; credit prepaid expenses
D. debit capital ; credit expenses

Provided below, financial information of Walton Co. Each account should have a
normal balance. Use the following information to answer question 15 to 18

4 Cash 8,000 Unearned revenue | 2,000

~+Accounts receivable 82,000 Wages pavable 2.000

~ Supplies. 4,000 Walton, Capital | 300,000

-t Prepaid insurance 2,000 Walton, Drawing | 6,000
Land 20,000 Revenues 160,000 -+
Equipment 78,000 Supplies expenses | 16,000

‘| Accumulated depreciation | 58,000 Wages expenses 320,000
Accounts payable 18,000 Insurance expenses | 4,000 |

13- The Income Statement for Walton Co. will show
A. $180,000 Net Income.
B, $180,000 Net Loss.
C. £$500,000 Net Loss.
D. $500,000 Net Income.




